Last Name: KG-L{ Ch: 14, Quiz 1 on Acids and Bases

1) Designate which of the following is (1) an Arrhenius acid, (2) an Arrhenius base, (3) a
Bronsted-Lowry acid, (4) a Bronsted-Lowry base (5) both an Arrhenius acid and a
Bronsted-Lowry acid, (6) both an Arrhenius base and a Bronsted-Lowry base, (f) not an
acid or a base.
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2) Which of the following species is amphoteric? (can be 0, 1 or 2 answers)
A) CO32- B) H.0 C) NHa D) HPO42- E) None of the above
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The answer(s) is/are letter(s) @D A D

3) Designate which is (1) the acid, (2) the base, (3) the conjugate acid, (4) the conjugate base?
H>COs + NHs <& HCOs + NH«*
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4) Based on Ka values, which of the following acids is the STRONGEST?
A) HF 3.5 x 104 D)HCHO? 1.8x 104
B) HCN 4.9 x 10-10 E) HCIO2 1.1x10-2
C) HNO2 4.6 % 104 E
The answer is letter
5) Which of the following is a polyprotic acid?
A) HF
B) H?S504
C) HCN

o 5
E)  HCH307 The answer is letter




b) Calculate the concentration of OH- in a solution that contains 3.9 x 10-4 M H30+ at 25°C.
Identity the solution as acidic, basic or neutral.
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) Calculate the hydronium ion concentration in an aqueous solution with a pH of 9.85 at
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9) Find pH for a 0.023 M HNO3 solution. HANO3@aq) + H20() < NO3(aq) + H30 (aq) x: .
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10) Given that the solution contains 0.00115M HCI and 0.01000M HCIO2. For the 1eaction:

HClO2aq) + H20() & H30' + CIO®* with Ka=1.1x102
Find the pH of the solution.
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